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GUJARAT NATIONAL LAW UNIVERSITY
. GANDHINAGAR
Course: Quantitative Techniques in Management
Semester-1T (Batch: 2016-18)

M.B.A, End Scmester Examination: April-2017

Date: 19™ April, 2017
Duration: 3 houts . S Max. Marks: 6l

Instructions:

s Read the questons pro pérly and write the answers in the given answer book,
¢ The respective marks for each question wre 1ndicaled m-line.

¢ Do nol write any thing on the quest 0N paper.

{ndicate correct guestion numbers in front of the aaswers.

e No questions or clasificalions can be sought during the exam perded, answer as it is, piving rcason, if any.

L

Use of scientific calculator is permitted.

Marks
Part-A (5x8=
Answer any five of the following questions: 400

Q.1 From a population of 125 items with a mean of 105 and a standaxd deviation of 17, a
sample of 64 is chaosen,
{a} Calculate the standard crror of the mean.
(b) What is the P(107.5 < xp,, <109)?

Q.2 Bank customers arrive randomly on weekday affernoons at an average of 3.2 customers
~ every 4 minutes.
(a) What is the probability of having more than 7 customers in a 4 minutes interval on a
weekday afternoon?
(h) What is the probability of getting exactly 10 customers during 8 minutes interval on
a weekday afternoon?

Q.3 Shaktimaan T.ogistics Sofutions Limited maintains mileage records on all its rolling
equipment. Weekly milcage records tor its trucks are as follows: -
80O [ 500 | 700 |650 [625 ]300 [s570 [875 775|675
900 1200 | 250 [350 400 [275 550 |[A425 |725 |625
Find the Mean, Median, Mode, Standard deviation and Intcrquamle range for the
above mentioned weekly mileages.

(3.4 The average height of lndian male is believed to be 174 em with a standard deviation of
5 cm. A survey conducted actoss India with a sample of 1000 participants revealed that
the average hcight of Tndian male is 176 cmn. With 2 significance level of 0.05, can we
conclude that the Indian male’s height has increased?

Q.5 Specialists in hospital administration stated that the number of T1Tis (full dme
employees) in a hospital can be estimated by counting the number of beds in the
hospital (a common measure of hospital size). A healthcare business researcher decided
to develops a regression model in an attempt to predict the number of FTEs of a hospttal
by the number of beds. She surveyed 12 hospitals and obtained the following data. The
data are presented in sequence according to the munber of beds,
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Q.8
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Q.10
Q.11
Q.12

Q.13
Q.14

No.of Beds :.. | % FTFEs
a3 - N 12
20 - uh
20 : a2
35 13
42 T 126
o 125
50 138
e 78
” 156
7 184
a7 Vi
- 225

Develop a regression equadon for the above given information and determine the
number of full tme employees if the number of beds are 85,

Find solution o the following Linear Programnmimg problem using Graphical method.
Maximize 2= xy + 3xe
Subject to

Xyt 2x 20
Xy — 4](‘; <11
X -Xa 2 2
X, X2 2 0.

Draw a network corresponding to the following information. Obtain the eardy and late
start dmes and eatly and late completion dmes for the activides given below. Also,
determine the critical path.

Acrivity 12 [13 726 [34 |33 46 |56 |57 [67
Duration (in days) 4 J6 |8 [7 14 e s [12 j10
Part-B (5x4—
Answer any [ive of the following guestions: 203

What are Type T error and Type 11 error in hypathests testing, What Is their significance?
What ig sampling? Ditferentiate between Stratfied Sampling & Cluster Sampling.

What s critical path? Can a project have multiple entical pathsy Can 2 critcal path
change during the course of projccts Why?

What is traffic intensity? [f traffic intensity of a system is given to be .76, what percent
of time the system would be 1dle? Can the trathc intensity be more than 17

What is correlation analysis? Srate whether the given statement is true or false with
apptopfiate reasoning. “‘Corelation does not necessarily imply canse-effect refationship”.

What is coefficient of variation? What is its significance?

Explain Chisquare test and ANOVA test? When are these tests used in hypothesis
testingr?

AN K
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Table of the Student's £distribution

The table gives the values of £, , where

Pr(4v> fgv ) = o, with v degrees of freedom

P 0.1 0.05 0.025 .01 (0,005 0.001 0.0005
1 3.078 6.314 12,076 31.82%F 63.657 318,310 636.620
2 1.886 2.920 - 4.303 6,965 9.925 22.326 31,598
3 1.638 2.353 3,182 4,541 5.841 10,213 12.924
4 1.533 2132 2.776 3.747 4,604 7.173 B 8.610
5 1.476 2.015 2.571 3.365 4,032 5,893 6.869
G 1.441) 1.943 2,447 3.143 3.707 5.208 5.959
7 1,415 1.895 2.365 2,908 3.499 4.785 5.408
8 1.397 1.860 2.306 2.896 3.355 4,51 5.041
9 1.383 1.833 2.262 2,821 3,250 4,297 4,781
10 1.372 1.812 2,228 2,764 3.169 4,144 4,587
11 1,363 1.796 2.201 2.718 3.106 4,025 4.437
12 1.356 1,782 2179 2.681 3.055 3.930 4.318
13 1,350 1.771 2.1n0 2,650 3.012 3.852 . 4.221
14 1.345 1,761 2.145 2.624 2.977 3.787 4.140
15 1.341 1.753 2131 2,602 2.047 3.733 4.073
16 . 1.337 1.746 2120 2,583 2,921 3.686 4,015
17 1.333 1.740 2310 2.567 2,898 3.646 3,965
18 1.330 1.734 2.101 2.552 2.878 3.610 3,922
19 1.328 1,729 2.093% 2.539 2.861 3.579 3.883
20 1.325 1.725 2.086 2,528 2.845 3.852 3.850
21 1.323 1.721 2.080 2,518 2.831 3,527 3.819
22 1.321 1.717 2,074 2.508 2,819 3,505 3.792
23 1.319 1.714 2.069 2,500 2.807 - 3,485 3.767
24 1.318 1.711 2.064 2.492 2.797 3,467 3,745
25 1.316 1,708 2.06( 2.4858 2.787 3.450 3,725
26 1.315 1.706 2.056 2.479 2.779 3.435 3.707
27 1.314 1.703 2.052 2.473 2.771 3421 3.690)
28 1.313 1.701 2.048 2,467 2.763 3.408 3.674
29 1.311 1.699 2.045 2.462 2.756 3.396 3.659
30 1.310 1.697 2.042 2.457 2.750 3,385 3.646
40 1.303 1.684 2,021 . 2.423 2.704 3.307 3.551
60 1,296 1.671 2,000 2,390 2.660 3.232 3.460
120 1.289 1.658 1.980 2.358 2.617 3.168 3,373
o0 1.282 1.645 1.96G0) 2.326 2.576 3.090 329
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